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A=SUQ) x UQ))

—{ - B zeU(l)}

SU(2) = SO(2)ASO(2)
SU(2) 5 g = kopak,
(ko, k1 € SO(2),a € A)
L = Ad(SO(2))z, 0000
LN Ad(g)L = Ad(ko)(L N Ad(a)L)
Ad(e¢) 0000 Rze0D000O0D0O00D0OOL
0000000 LN Ad(a)L = {£x}.
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p=+/—1{X | X :0000OO trX = 0}
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SU(n+1)/SO(n+1)= | kAo
keSO(n+1)

0o0ooogoSU(n+1) =SO(n+1)ASO(n+1).



SU(n+ 1) 5 g = koak,
(k(), kl - SO(TL —|— 1),a - A)
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M . 00000 Riemann U U [ [
s, cxUU00OO0O0OO ze M
00 (Chen-Nagano 1988)
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S Ve,ye S s,y=1y

S| : 00 SO000OO0

HoM : M [ 2-number
=sup{|S||SOOOO0O }

S: 00000 < #M = |S|



K =R,C,H

Gir(K™) : Grassmann [ [0 [

(v;}: K*OKOOOOOO

= (ViU dr |1 <t < oo <1 <}
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000 ZoUOU Bettild O U0

(Grassmann 0 00000000 O Hermite
O0O00o0o0oDo0 RODOOOOOOOO)
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D000 doudoougdgn
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1(T. 2010) M :
Lo, L, : M
LoN Ly :
— LoN Ly :

2(Tanaka-T. 2012)

M Hermite
Lo, Ly : M
LoN Ly :
— LoN Ly :
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3(Ikawa-Tanaka-T. 2015)

M Herm.
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U000 Hermite O U O OO O OOO
LieOOOOO0 M = Ad(G)xo C g 00
Jooddbod

(G,K;): L;,0J00000C

g=t4+p;: 000000000z € p;
a: oUUUO ponp U000 OOO O
o: G/K;OOOOHermannO OO O O

G/K, = U k exp ao
ke K,

100000G = Kgexp aK;.
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G S g = koak;
(ko € Ko, k1 € Kq1,a € A)

LoNAd(g)L, 00000000
LoNAd(e)L;0000000000
0000 = LyNAd(e)L: 00000000
0oooooon

LoNnAd(e)L; : 000 = 0000000C
0 WeylDODDOOODODODOO
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00 4(Iriyeh-Sakai-T. 2013)
M:O0OUOO0O0O0OO0O Hermite U 0 0O [
Ly, L, : MOOO

LoNnL,: 000 = Floer OO

HF (Lo, L1) 2 (D Zap
p€LoNLy

000 LN L,O00000000O0000O O
J00oooooooooooon
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Lo Ly, ¢ : MO Hamilton [ []
|LoN¢(Ly)| > rankHF (Lo, L) = |LoN L4]
HRERERERERERERE

| Lo N Lq| = min{#2Lg, #2L1}

00 ROO = #,L; : Z, 00 BettiD O O0O)
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00000 Qn(C) 0 Hamilton O O ¢
S™O 00

vol(¢(S5™)) = vol(S™)
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Joo0dd Leddoodn -« dooddo
M =Ad(G)xy C g
(G,K): 000000000g=¢%+p
L =Ad(K)xe: 00000 (xg € p)
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(Ikawa-Iriyeh-Okuda-Sakai-T.)
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